Subject: Re: Applying weights to multilevel hazard analysis using Cox regression
Posted by Bridgette-DHS on Mon, 24 Jan 2022 13:53:00 GMT

View Forum Message <> Reply to Message

Following is another response from DHS Research & Data Analysis Director, Tom Pullum:

If you don't have "wtl_1*wt2_1" anywhere in your code, then | can't account for the error
statement. The product of those two level-weights would be the net weight, proportional to v005. |
will ask someone else to help -- I have no more suggestions.

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=11
https://userforum.dhsprogram.com/index.php?t=rview&th=11480&goto=23979#msg_23979
https://userforum.dhsprogram.com/index.php?t=post&reply_to=23979
https://userforum.dhsprogram.com/index.php

